DIvISION WITH A REMAINDER II (H - SET 5)

PIVISION WITH 1 T0 10 1;?;1: Score: A
21 26454 + 6 = 226) 1386 + 2 =
212) 69552 + 7 = 21 4071 +1 =
23) 74704 + 9 = 228) 30705 + 6 =
211) 98738 = 4 = 2200 46097 = 5 =
215) 17594 + 2 = 230) 35398 + 8 =
2160 79190 + 10 = 21 22735 +7 =
07 65425 <+ 7 = 22 38698 + 4 =
218) 32989 +4 = 233) 25246 + 8 =
2190 19338 + 2 = 231) 1225 +9 =
20) 19428 + 2 = 235 95 + 6 =
221 21760 + 10 = 236) 43226 + 6 =
222) 31141 +9 = 237) 1960 + 1 =
223) 18601 + 2 = 28 30133 +4 =
224) 23056 + 3 = 239) 4437 + 2 =
225) 3301 + 1 = 200 107 +9 =
Mathematics: Division - Level § - Horizontal - Set 5 9 cul
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